
Merkle trees

¿Cómo funciona Bitcoin?



Merkle Parent

D 1 D 2



Merkle Parent

D 1 D 2

H(D1 + D2)



Merkle parent level

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8



Merkle parent level

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8

H(D1 + D2)



Merkle parent level

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8

H(D1 + D2) H(D3 + D4)



Merkle parent level

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8

H(D1 + D2) H(D3 + D4) H(D5 + D6)



Merkle parent level

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8

H(D1 + D2) H(D3 + D4) H(D5 + D6) H(D7 + D8)



Merkle Root

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8

H( H(D1+D2) + H(D3+D4) )

H(D1 + D2) H(D3 + D4) H(D5 + D6) H(D7 + D8)



Merkle Root

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8

H(D1 + D2) H(D3 + D4) H(D5 + D6) H(D7 + D8)

H( H(D1+D2) + H(D3+D4) ) H( H(D5+D6) + H(D7+D8) )



Merkle Root

D 1 D 2 D 3 D 4 D 5 D 6 D 7 D 8

H( H( H(D1+D2) + H(D3+D4)) + H( H(D5+D6) + H(D7+D8) ) )

Root

H(D1 + D2) H(D3 + D4) H(D5 + D6) H(D7 + D8)

H( H(D1+D2) + H(D3+D4) ) H( H(D5+D6) + H(D7+D8) )


